
"

Ragvir
,

how do you apply the CLT to

¥4's ? Just the steps ; no intuition !
"



PR0P
.

I
.
Cram'er -Wold device

.

- Consider a sequence of kxl randomvectors{by) and a KX1 random
vector Z

,
where Z has joint distribution Ez .

-

If there exists some at RK It . Half 1 and
al b death as To 0

,

then the limitingdistribution of by, exists and equals Fz .

Proof . {orry , you are hitting
the boundaries of myknowledge now .

Can look at Rao4973)
"Linear Statistical Inference &

its applications
"

] D



PROP
.

2
. Lindeberg-Levy CLT .

- let ¥41 be a sequence of us random scalars with
F- ftp. :# and Varkey E for 0<046 .

- then
, ff (E - µ)µ d- N10

,
1) asT-o.LT

)

Proof . Can do using
"characteristic functions

"
.
But a simpler

version using moment-generating functions is

explained in excruciating detail in myPAIN IN
THE ASYMPTOTICS

.
D



STUDENT %

OK

OK

0k

You ARE

BASICALLY
ON

THE
RIGHT TRACK

.

WELLDONE
.

MY NOTES

BELOW
MAY HELP

You
SEE

How
To

FORMALISE
YOUR

THINKING .

-



Yes
,
see assumptions below

\
0





RAGVIR :

We need to assume the following :
A. I ④I

,
Et)) is an ID sequence

A.2. a ELXTEE) = 0

A.2.BE/IXfEtY) < to , f- I , . . . ,k
A. 2. c V :-. (I 'kX'E) is RD .



Props
.

A- ftEaT"KHAN4,4 as ten
.

Proof . let Zt a
' V.
"

4th
- Zt is I1D due to A. I .

- Eft) = 0 due to A.2. a
- Var = I due to A.2.band A.2. c

, noting Hallet .
The required result follows from PROP

.

2
.

A



THEOREM 1
.

if It"X's IN10 .

aston
.

Proof . Recognise that
Fi ⇐ Iga'i"4.it = a'F⇐ir"It) ,
let by ÷ if

"

IE
;
and

the required result follows from PR0P . I. B


